METERING & INTERCOM

CURRENT VERSION

.
0
o
; - Y . TLN5167A INTERCOM BOARD
[ - -
reremence | MoTomoua g . : : : it :
. I ] o . I 2xkH = t
b = 4 g SHOWN FROM SOLDER SIDE e c2o2 8. : . 5
= -Z% ES o ~
PARTS LIST 3R % s = 3 & E5 fe 2 5 8 s £ S
Z s i w © I3 S DB
pa (15 14 16 20 21 19 2 ¢ S £ 4 X “y¥z
TLN5167A Intercom Board PL-5076-O — <z » x 3
Pa L‘IS 14 16 20 21 j
1 9
CAPACITOR, fixed: uF: 12 g g 3
cl, 2 8-82905G11 | 0,22 £10%; 50 V N ¢ B 8 3
c3 23-865137 4.7 £20%; 25 V GRN YEL -GRN YEL-BLU BRN-RED YEL-RED RED {SHLD) v e w o ! § g
c4, 5 8-82905G11 0.22 +£10%; 50 V .
o 23-865137 4.7 £20%; 25 V et wenss: oo - ‘ T e : g T
Poi : a2 : i i m‘;&x %%%%% . 3&3@% - ‘ %&ﬁwﬁ%&&% -
SEMICONDUCTOR DEVICE, @ “E@w
diode: - w;,g;?
CR1 thru 5 | 48-83654H01 | silicon =

SWITCH, magnetic reed:

13.4 V DC:
K1 80-84157B02 dual-coil; 2 form "A",
1 form "B'; resistance of each
coil 285 ohms *10%
T b . ;
TRANSISTOR: . W o S ! e cw%%‘ﬁﬁ
Ql, 2 48-869642 NPN; type M9642 ; s & ’ ' # T L
RESISTOR, fixed: +10%; 1/4 W: |
R1 6-124C69 6.8k s i ;
R2 6-124C51 1.2k sl e ‘. ‘ -
R3 6-124C53 1. 5k G . ] o . N -
R4 6-124C43 560 { : : : 5, IR %@‘W / L . v . !
R5 6-124C49 1k X ; e B b, . . o
R6 6-124C69 6. 8k ! , ; . ‘ , e ; o ' %ﬁ%\; i %%«WW% 0 i
R7 6-124C83 27k L. 22 B | - - G G G %%w*%%@% |
R8 6-124C93 68k i & P 2
R9 6-124C43 560 o ;i 3 ? 80 - CEpa- 10420~ 0
R10 6-124C19 | 56 SR v . X ° g
R11 6-124C85 33k - EIE] 513|3 © o o ow T
R12 6-124C75 12k @ BD ~ CEPS-20779-0 25 5 glelE ‘: ; -2 of
R13 6-124C49 1k BLU-YEL BLU-GRN GRN YEL-GRN OL~-CEPS-20780-A Zlg g Q TRANSISTOR o ET 20
R14 6-124C45 680 ‘ DETAIL §§=
v
(=]
=k 3|z 3 g 3
@lZ|E w|3[2 of oa SHOWN FROM SOLDER SIDE
o|glo o o Se
=iz|Q e pE- § E§i -
o
=y
=

68P81033E28-F
(Sheet 1 of 3)
6/20/80-PHI



REFERENCE
SYMBOL

MOTOROLA
PART NO.

DESCRIPTION

PARTS LIST

TLN5900A Meter Kit
TLN5993A Meter Kit

NOTE

This parts list covers two meter kits. Where differences
appear the model number of the applicable kit is indicated
in the description column.

PL-5077-0O

C100

CR100, 101

J1

LSs1

M100

P100
P101
P102

R100
R101
R102

S1
s2, 3

21-82428B24

48-82420C03

9-830418

50-84710G01

72-83120C02

29-82676C01
29-82676C02
28-84208B01

6-84640C61
6-13756D88
6-124A33

40-83158C01
40-83890A01

CAPACITOR, fixed:

01 uF +80-20%; 500 V

DIODE: (SEE NOTE)

silicon

CONNECTOR, receptacle:

4-contact

LOUDSPEAKER; permanent:

dynamic type; 3''; square
16 ohms voice coil impedance

METER, dc:

scale; 0-50 microamperes

CONNECTOR, plug:
test probe; BLACK
test probe: RED
7-contacts

499k +0,5%; 1/4 W
100k +1%; 1/2 W
220 ohm +5%; 1/4 W

SWITCH:
rotary; 2 section
slide; dpdt

REFERENCE MOTOROLA
SYMBOL PART NO. DESCRIPTION
3-7331 SCREW, machine: 6-32 x 3/8
3.129498 SCREW, machine: 6-32 x 5/16;
4 used
3-134169 SCREW, tapping: 4-40 x 1/4;
6 used
3-135111 SCREW, tapping; 4-40 x 3/8
4-7568 WASHER, flat: .378 x .562 x
067"
4-7650 WASHER, lock: #6 (internal
tooth)
4-7698 WASHER, lock: #3/8 (internal
tooth)
4-7699 WASHER, lock: #13/16 (internal
tooth)
4-114057 WASHER, flat: .125x .312 x
.032"
4-858060 WASHER, insulating: . 125 x
7/32 x .060'"; 3 used
5-483208 GORMMET, rubber: 1/2'" ID
7-83198K01 BRACKET, meter
14-84717F01 INSULATOR: .68 x . 40"
29-5247 LUG, soldering: #1/4 L; 2 used
29-115147 LUG, soldering: #5

35-84530G01
36-84356C01
42-859067

42-10217A02
42-82143C02
54-83147L01

GRILLE, speaker
KNOB, pointer

CLAMP, cable: 1/2" OD (black)
STRAP, cable harness; 4 used
CLAMP, cable: 1/4" OD (black)
LABEL, caution

NON-REFERENCED ITEMS

1-80775R56

1-80775B58
3-129674

3-132341
15-83947K01
30-83678K01

42-83948K01
1-80775B61

1-80792B23

1-80795B11

1-80792B24

4-7555

27-83008K03
31-490181

42-871184

1-80793B04
1-80793B05

15-82734L.01
3-136138

42-83123F01
75-838826
2-7005
2-7018
2-132616

2-83896G01

DIODE & CAPACITOR
ASSEMBLY includes:

DIODES CR100 & CR101

CAPACITOR C100
CABLE ASSEMBLY includes;

SCREW, machine; 4-40 x

3/16"; 2 used

SCREW, machine: 4-36 x

1/4'"; 2 used

COVER, connector; 2 used

CABLE, 7-conductor; 42'1g.

CLAMP, cable; 2 used
VOLTMETER PROBES
includes:

CONNECTORS P100 & P101
SWITCH ASSEMBLY, wired
(TLN5900A) includes:

SWITCH S1
SWITCH ASSEMBLY, wired
(TLN5993A) includes:

SWITCH S1
CHASSIS ASSEMBLY includes:

WASHER, flat: .128 x .250 x

.033'"; 2 used

CHASSIS, metering

TERMINAL STRIP: 2-

termina; 2 used

CLIP, mounting; 2 used

SWITCHES S2, S3, & S4
COVER ASSEMBLY includes:

COVER SUBASSEMBLY

includes:

COVER

SCREW, tapping: 6-32 x

3/8"; 2 used

RETAINER, screws; 2 @ised

BUMPER, rubber; 4 used
NUT, hex: 6-32x 1/4 x 3/32"
NUT, hex: 3/8-32x 1/2 x
3/32"

NUT, hex: 6-32 x 1/4 x 3/32";
4 used ’

NUT, special: 13/16-27 x
.905x . 110"

s

-OIUF

P00 e
() « Bk 495K
VOLTMETER ~101
PROBES (’:l)m RED roox
Proz
5 8RN — — -
. [ reo
ORG
METER |2 =
PLUG 4 Marn R102
5 220
o WHT
5 |BLK
I YCrI00 1
|
|
! |
aru ¥ 2 / BLx .
é NOTE 2 _————
22y & WAHT
5
orc f4
GoN|
YEL
Ploz
METER PLUG
DETRIL
METER PANEL DETAIL

TKN67.80A Cable Kit PL-3418-A
CONNECTOR:
P4 includes:
9-84151B03 CONTACT, receptacle; 10req'd
14-84556B02 HOUSING
NON-REFERENCED ITEM
42-10217A02 STRAP, cable harness; 7 used
REFERENCE MOTOROLA
symBoL PART NO. DESCRIPTION

TRN6189A Intercom Chassis Kit

PL-3452-0

J1

LS1

s2,3

9-830418

50-84710G01

40-11589

CONNECTOR, receptacle:

SPEAKER

4 -contact

3'"; 16 ohm

SPST

NON-REFERENCED ITEMS

1-80775B59

1-80775B51
2-132616

2-83896G01
4-7699
5-483208
35-84530G01
42-82143C02
42-10217A02
3-134169

3-129498

29-115147

CHASSIS (riveted) incl. ref,
item S2 and S3

COVER ASSEMBLY
LOCKNUT, speaker (No. 6-32)
4 req'd.

NUT, hex (used wifh J1)
LOCKWASHER (used with J1}
GROMMET, rubber
GRILLE, speaker

CLAMP, cable (1/4)
TY-WRAP, cable: 4 req'd.
SCREW, machine: No. 4-40 x
1/4"; 7 req'd.

SCREW, machine: No. 6-32 x
5/16'"; 4 req'd.

LUG, solder (No. 5)

FWD INTERCOM OFF

5 ——

NORMAL SPEAKER 4=

D D RECEWVER |4+
2

SPEAKER
46 OHM

I

MIC }
CONNECTOR ——
(NOTE 1}

+

OPERATING INSTRUCTIONS
1. METERING

Step 1. Select the function to be metered with the
METER switch.

Step 2. Select the chassis to be monitored by placing
the metering plug (P102) into the metering receptacle of
the receiver, exciter, power control board or the power
amplifier.

NOTE
Metering plug P102 should be plugged in
only when tuning. Unplug it when it is not
being used.

Step 3. For receiver discriminator adjustment, use
both 4( +) and 4(-) and adjust for meter zero.

Step 4. Refer to the Transmitter and Receiver sections
of this manual for typical or minimum readings. Better
yet, keep a log of all meter readings each time the

MODEL COMPLEMENT TABLE

MODEL CONSISTS OF
TLN1857A TLNSSONA METER KIT (CHASSIS)
METERING & TLN5167A—1_| INTERCOM BOARD KIT

INTERCOM KI T TKNE780A CABLE KIT
TLN1886A TLNS993A METER KIT {CHASSIS]

METERING TLN6167A—1 | INTERCOM BOARD KiT
INTERCOM KIT TKN6780A CABLE KIT

TLN1745A TANG189A INTERCOM KIT { CHASSIS]
INTERCOM TLN5167A-1 | INTERCOM BOARD KIT
Kt'l_' TKNB780A CABLE KiT N

station is serviced. Use the last set of readings as a
reference and note any degradation in performance.

Step 5. To measure miscellaneous station voltages,
use the voltmeter probes (P100 and P101) on either the §
V or 25 V positions. Divide the 5 V full scale reading by
10 to obtain actual voltage and divide the 25 V full scale
reading by 2 to obtain actual voltage.

2. INTERCOM

Step 1. Connect a test microphone to the microphone
receptacle on the meter & intercom chassis.

Step 2. Place the SPEAKER-OFF switch in the
SPEAKER position.

Step 3. Place the NORMAL-INTERCOM switch in
the INTERCOM position.

Step 4. The unit is now ready for intercom operation
between the station and the remote control point. Close
the PUSH-TO-TALK switch on the microphone and

r INTERCOM BOARD

MATES WiTH J4 Ol
UNIFIED CHASSIS
INTERCONNECT
BOARD
Pa
st YEL-BLK .

12| aupio Lo
YEL- GRN

TLNS5t67A
‘ 5 | [SPEAKER
ENERGIZED ROUTES MIC o | >
AUDIO TO P4-9 AND TEL « | aubto
HI
l MUTES SPKR LST : |_YEL-RED sz
o 52 21 BLOCKS INTERCOM P~ T T I
MIC AUDIO o
S ke cies S8 > o
| Fj?z 5 0.22 T FROM LOCAL P-T-T | OF F RER-SHLD s
15K | Ju2 . I LINE DRIVER NPUT
= Kt CR5  CR4 cR2 CRY
} PT YENERGEESD ?__ﬁ_A » L M + } TEL-GRN 16 | LOCAL P-T-T
K1
Jus |
CRt - YEL-B
‘ .‘ ~O (1} 20 [ INTERCOM P-T-T
R4 RS !
. BRN-RED
00 560 ’l“ ® AMPLIFIES MIC AUDIO ' 2 | A+ (13.8v)
r9 $FOR APPLICATION TO
.J::“ 7UF 560 {EXCITER
MiC | Re cs 12 BLU-GRN
RECEPTACLE ) |- THIS MIC AUDIO IS
L 68K 0.22 2K APPLIED TO XMTR BUT IS
U ca NOT TRANSMITTED UNTIL
MICHI | 4 YIS Qi ' XMTR IS KEYED.
Al
] o2z 58X M9642 1 >
r SRN-SHLD
DETAIL 45 [ UNNOTCHED MiC M1
3 l i RIO I
4(c%)2 s 1ot
° = =
: | ]
F T BLK
INTERCOM L~ 1> | GRounD
GRN-YEL -
P-T-T | 3 s3
[NORMAL o BLU-YEL |
EARPIECE AUDIO | 4 |o—YEE-WHT (EARPIECE AUDIO) YEL -WHT

EXCITER L0 | 2 [-BEK-WHT

LOCAL SPRR

BLK- WHT

NOTE
wir i 12 WSTATIONS, FINAL PA CURRENT IS METERED
AT PWR CONT MTR 5. WITH ALL OTHER STATIONS,
FINAL PA CURRENT IS METERED AT PAMTR 8.

NOTE:

1. THIS OPTION REQUIRES THE USE
OF A MOTOROLA MODEL TMN6071A
MICROPHONE, OR EQUIVALENT.

JUMPER TABLE

WHEN "SPECTRA TAC"
IS ADDED

JUMPER NORMAL {CUT CR2)

Ju1 ouT ouT

Ju2 ouT IN

Jus ouTt IN

2. LEADS A CONNECTED FOR
TLN5300A. LEADS B
CONNECTED FOR TLNS993A.

speaker into the microphone to send a message. Release
the button to listen; replies will be heard in the speaker.
The console operator at the remote point must also swit-
ch to an intercom mode to prevent keying the station
during replies.

Step 5. Return the SPEAKER-OFF switch to the OFF
position before leaving the station unattended.

3. “ON-THE-AIR’’ TESTING

Step 1. Connect a test microphone to the microphone
receptacle on the meter & intercom chassis.

Step 2. Place the SPEAKER-OFF switch in the
SPEAKER position.

Step 3. Place the NORMAL-INTERCOM switch in
the NORMAL position.

Step 4. The unit is now ready for ‘‘ON-THE-AIR”’
testing. If the microphone PUSH-TO-TALK switch is
closed, the station’s transmitter will be keyed. Speak in-

EEPS-22341—-C

LEGEND

D THEQRY OF OPERATION DATA

PRIMARY SIGNAL FLOW

to the microphone to transmit a message. Release the
PUSH-TO-TALK switch to listen. Receiver audio will
be heard on the speaker.

Step 5. Return the SPEAKER-OFF switch to OFF
before leaving the station unattended.

4. MONITORING

To monitor audio quality, etc., place the
SPEAKER-OFF switch in the SPEAKER position.
Both receiver audio and line audio from the remote con-
trol point will be heard in the speaker.

MIC AUDIO IS ULTIMATELY

4 | EXCITERSO

“COMPA-STATION”
METERING & INTERCOM
MODELS TLN1857A AND TLN1886A
INTERCOM

MODEL TLN1745A

FUNCTION

--Models TLN1857A and TLN1886A provide built-
in metering of over 20 major test points in the tran-
smitter and receiver(s), plus intercom between the
station and the remote control point.

--Model TLN1745A provides intercom between the
station and the remote control point.

METER SELECT TABLE

P102 METER SELECTOR LOW BAND-MID BAND HIGH BAND 820 MHz/UHF
:IETER SWITCH TLN1886A/TLN1887A TLN1857/TLN185SA TLN1857A/TLN1859A
LUG
CONNECTED
T0 MTR. NO. POS. POL. FUNCTION METERED PCL. FUNCTION METERED POL. FUNCTION METERED
RCVR AND RCVR | 1 1 REV EXTENDER CHANNEL ELEMENT REV - FWD | CHANNEL ELEMENT QUTPUT
IF BOARD 2 2 REV = REV - FWD | FIRST DOUBLER QUTPUT
3 3 REV CHANNEL ELEMENT OUTPUT REV CHANNEL ELEMENT OUT-{FWD | SECOND DOUBLER OUTPUT
PUT
a4 | 4 REV DISCRIMINATOR OUTPUT REV DISCRIMINATOR OUTPUT {FWD | DISCRIMINATOR OUTPUT
4 | 5 REV DISCRIMINATOR OUTPUT REV DISCRIMINATOR OUTPUT [FWD | DISCRIMINATOR OUTPUT
5 6 REV THIRD IF OUTPUT AND LIMITER REV THIRD IF QUTPUT AND  {FWD LIMITER OUTPUT
OUTPUT LIMITER OUTPUT
POWER AMP PWR 1 7 FWD | P.A.INPUT REV PA INPUT FWD | PREDRIVER CURRENT
AMP | 2 8 FWD REV CONTROLLED AMP FWD | 25W DRIVER CURRENT (75W)
ouTPUT
3 9 FWD REV INPUT FINAL AMP FWD FINAL AMP CURRENT (EXCEPT
90/100 W/60 W PREDRIVER| 12 W MODELS)
4 10 FWD | CONTROL VOLTAGE REV INPUT FINAL AMP FWD -
5 " FWD | FINAL AMPLIFIER CURRENT REV FINAL AMPLIFIER CUR— [FWD | CONTROLLED (ADL) STAGE VOLTAGE
RENT FINAL AMPLIFIER CURRENT
(12 WONLY)
POWER POWER| § 12 FWD | CONTROL VOLTAGE Fv/D | CONTROL VOLTAGE FWD | ADL VOLTAGE (ALL OTHERS)
CONTROL CONT. | 3 13 FWD - - FWD | ADL VOLTAGE NOT USED
BOARD (800 MHz ONLY)
2 14 FWD REFLECTED POWER FVID REFLECTED POWER FWD REFLECTED POWER
1 15 FWD FORWARD POWER FVID | FORWARD POWER FWD FORWARD POWER
- B - 16 UMUSED UNUSED UNUSED
EXCITER EXCTR| § 17 FWD | SECOND AMPLIFIER - (LB} FV/D [ EXCITER OUTPUT FWD | EXCITER OUTPUT
DRIVER INPUT - (MB}
4 18 FWD | FIRST AMPLIFIER (LB) Fu/D FIRST DOUBLER INPUT  [FWD | DOUBLER INPUT
DOUBLER INPUT — (MB)
3 19 FWD | TRIPLER INPUT F\/D | TRIPLER INPUT FWD | TRIPLER INPUT
2 20 FWD | CHANNEL ELEMENT OUTPUT FW/D | CHANNEL ELEMENT FWD | CHANNEL ELEMENT OUTPUT
OUTPUT
1 21 FWD IDC AUDIO OUTPUT FWD IDC AUDIO OUTPUT FWD IDC AUDIO OUTPUT
VOLT- | 25 v| 22 FWD 25 VOLTS FULL SCALE FwWD 25 VOLTS FULL SCALE FWD 25 VOLTS FULL SCALE
METER | 5v | 23 FWD | 5VOLTS FULL SCALE [ FWD | 5VOLTS FULL SCALE FWD | 5VOLTS FULL SCALE
NOTE NOTE: NOTE:
METER IS METER IS METER (S
LABELLED LABELLED LABELLED
0-50 0-50 0-50
OFF - 24 OFF OFF OFF
EPS-23014—A
68P81033E28-F
(Sheet 2 of 3)

6/20/80-PHI

“COMPA—-STATION” METERING & INTERCOM



UPRIGHT STATION
METERING & INTERCOM
MODELS TLN1859A AND TLN1887A

£fo

UHF _PA
os2
[Transwr] sk e
TR DETAIL
]wzn g AR MR

TLN5134A a4
METER PANEL ° o

. 2

= 2

e i

e 7

Nuo-038
RETY

|

[omaee] so (]

PWR AMPL

Ri2
220

REISITT)

RED-WHT.

ERCERETY

TLNS901A < TLN5994 A
METERING CHASSIS

BLU -WHT TO PA (PIN 3 VHF)

(NTR+ UHF)
BLU-RED

< TO PA (PIN & VHF)
(MTR= UMF)

BLK-YEL

TO PA
P24 99K € A= tvore 2)
VOLTMETER “ P 95k e "
PROBES 7 o 755 SE—C TS Thore
1
e w9871 ne
FUNCTION A E — -3 HSnn e BRI
ORG .
YA b :
F GRN —_— —_—
Provides built-in metering of over 20 major test points i . o kNCBBGA
. . . . — RS BRN-RED.
in the transmitter and receiver(s). Plus intercom bet- i X5 pe Cn (z— 240590 ares i ga on
. . = INTERCONNECT BOAR:
ween the station and the remote control point. "\w BB e | sren 0 NECT BOA
-l
' I
16 l
~ |
METER SELECT TABLE }[ SO l
P102 METER SELECTOR LOW BAND—MID BAND HIGH BAND 820 MHz/UNF ‘ N N ] 55
METER SWITCH TLN1886A/TLN1887A TLN1857/TLN1859A TLN1857A/TLN1859A N we L
NOTES B | —q |
PLUG —t{_ _______ 3 j
CONNECTED
TO MTR.NO. | Pos. | poL FUNCTION METERED PCL. FUNCTION METERED __[pOL. FUNCTION METERED | [ srono 1o | xanre wares
RCVR AND RCVR | 1 1 REV | EXTENDER CHANNEL ELEMENT REV - FWD | CHANNEL ELEMENT OUTPUT — = |
IF BOARD 2 |2 REV - REV -~ FWD | FIRST DOUBLER OUTPUT meTER pLuc .
3 |3 REV | CHANNEL ELEMENT OUTPUT REV | CHANNEL ELEMENT OUT-{FWD | SECOND DOUBLER OUTPUT | I
PUT
“ | 4 REV | DISCRIMINATOR OUTPUT REV | DISCRIMINATOR OUTPUT {FWD | DISCRIMINATOR OUTPUT |
4 | s REV | DISCRIMINATOR OUTPUT REV | DISCRIMINATOR OUTPUT [FWD | DISCRIMINATOR OUTPUT | l
5 |6 REV | THIRD IF OUTPUT AND LIMITER REV | THIRDIFOUTPUTAND [FWD | LIMITER OUTPUT
QUTPUT LIMITER OUTPUT l rvioer 12 wea
DRIVER CURRENT 10 | XMTR MTR-
PWR |1 7 FWD | P.A.INPUT REV | PAINPUT FWD | PRE 7
POWER AMP AMP |2 [ 8 FWD - REV | CONTROLLED AMP FWD | 25WDRIVER CURRENT (75 W)
OUTPUT l
3 |9 FWD - REV | INPUT FINAL AMP FWD | FINAL AMP CURRENT (EXCEPT -m
90/100 W/60 W PREDRIVER 12 W MODELS) e © (sramo I
4 10 FWD | CONTROL VOLTAGE REV | INPUT FINAL AMP. FWD - " STATION OR )
5 " FWD | FINAL AMPLIFIER CURRENT REV | FINAL AMPLIFIER CUR— |FWD | CONTROLLED (ADL) STAGE VOLTAGE wn
RENT FINAL AMPLIFIER CURRENT : l
(12 W ONLY)
FVD | CONTROL VOLTAGE FWD | ADL VOLTAGE (ALL OTHERS) T T T T T T leeene L YEL | soxr
POWER POWERI S 1 12 Fwo | CONTROLVOLTAGE - FWD | ADL VOLTAGE NOT USED TLNS1674-1 INTERCOM KIT e acooraresans[ )ity ne. T veu-onn I
CONTROL CONT. | 3 13 FWD 500 s ONLE) ' e ; I
ci c2
BOARD 2 14 FWD | REFLECTED POWER FVID | REFLECTED POWER FWD | REFLECTED POWER | A :‘u ' :un i :t D > Lovcace
1 15 FWD | FORWARD POWER FVID | FORWARD POWER FWD | FORWARD POWER | 0.2 . i‘":‘ . ox ! > ' o | o mpor
) f a+ (Pa-21)
NUSED
= — . UNUSED o WD :lesTea ouTPUT | 1 T b ® a" e u3 |
FWD | SECOND AMPLIFIER — (LB) FWD | EXCITER OUTPUT F exciren cne a3
EXCITER EXCTR| 5 17 SECOND AMPLIFIER l s > e o b I 20 | wrercom oot
4 18 FWD | FIRST AMPLIFIER — (LB) FWD | FIRST DOUBLER INPUT [FWD | DOUBLER INPUT % Jo % e " P N .
DOUBLER INPUT — (MB) | e gy [0 {1 - TN [:) g } 6 [Pt
3 19 FWD | TRIPLER INPUT FWD | TRIPLER INPUT FWD | TRIPLER INPUT | + { mSeaz tocaL T
FWD | CHANNEL ELEMENT OUTPUT FWD | CHANNEL ELEMENT FWD | CHANNEL ELEMENT OUTPUT o2 e <o e |
2| OUTPUT | 4 rs a1 ool g Tk s [xera
’ 4TUF { >
1 21 FWD | 1DC AUDIO OUTPUT FWD | 1DC AUDIO OUTPUT FWD | IDC AUDIO OUTPUT CROPTONE e 10 K| i orz 65K AR 1AV S l T o xera 1o
a7 + £ 3
VOLT- { 25v| 22 FWD | 25VOLTS FULL SCALE FWD | 25VOLTSFULLSCALE |FWD | 25VOLTS FULL SCALE RECEPTACLE PTT__ GRN-YEL | 1™ w ""‘mw“wm R T . ] s | ovo
METER |5y | 23 FWD | 5VOLTS FULL SCALE L FWD | 5VOLTS FULL SCALE FWD | 5VOLTS FULL SCALE HANDSET aubio = + APPLIED TO XMTA #UT < M1 vevoner \’J
N N 1S NOT TRANSMITTED AuURIO
:EIER s :JA(E)::R IS ;g;ER 1S —_"'"m”""NE P s | UNTIL XMTR IS KEYED. l | .
LABELLED LABELLED LABELLED d | |
0-50 0-50 EEPS-22312-C
0-50 Tﬂﬂ | sLu-cRN |
OFF - 24 OFF OFF OFF BLu-vEL | BLU-YEL
e ——
EPS—23014-A -viorer
L. ¢
mll.‘:lf(l
]
B il el e e e By
¥ = I_?]E W O
e [l
—\\/// =i
§ .L\\ N PWRAMP ,'
68P81033E28-F = O Uz vounee Q CURRENT !
C
(Sheet 3 of 3) g 3’-—7/ tg i :
MICROPHONE
6/20/80-PHI /N i
MICROPHONE R s SPEAKER !
NORMAL ]  INTERCOM eren offr [J on ':
wo CJmev i (@)
METER PANEL
DETAIL

VHF PA

PIN{ MTR4
@ ymmmme—a—s PIN 2 NOT USED
0" 0" =3 a+
o o | M a-

PING NTR-
\—————— PIN 3 NOT USED

SIDE VIEW

MODEL COMPLEMENT TABLE

TLN1BSOA

MODEL CONSISTS OF

r——
TLNS001A _ TMETER KiT (CHASSISI
TLN5187A — 4 | INTERCOM BOARD KiT

TKNGBBSA | CABLE KiT.

METERING &
INTERCOM KIT
TLN1887A
METERING &
INTERCOM KIT

TUNSOD4A METER KIT (CHASSIS]
TLN5167A — 4 | INTERCOM BOARD K1
TKNBBSBA | CABLE KiT

NOTES

2

E)

*NTERCOM REQUIRES THE USE OF A MOTOROLA MODEL
TMNBO71A MICROPHONE, OR EQUIVALENT.

ON 12-WATT UHF STATIONS. BLK-YEL A(-] LEAD IS
CONNECTED TO T82-2 () ON UNIFIED CHASSIS INTER-
CONNECT BOARD.

ON 12-WATT UHF STATIONS, RED A(+} LEAD IS CON-
NECTED TO TB2-1 (+] ON UNIFIED CHASSIS INTERCONNECT
BOARD.

LEADS A CONNECTED FOR TLNS901A. LEADS B CONNECTED
FOR TUND9I9AA,

LEGEND.

-B .

= PRIMARY SIGNAL FLOW

THEORY OF OPERATION DATA

OPERATING INSTRUCTIONS
1. METERING

Step 1. Tuning Meter Usage -- Select the function to
be metered with the meter switch. Next, select the
chassis to be monitored by placing -the metering plug
(P102) into the metering receptacle of the receiver, ex-
citer, power control board, or the power amplifier.
NOTE: Metering plug P102 should be plugged in only
when tuning. Unplug it when it is not being used. For
receiver discriminator adjustment, use both 4(+) and
4(-) and adjust for meter zero.

Step2. PWR AMP Meter Usage -- Select PA

current/voltage monitoring by placing the
VOLTAGE/CURRENT switch in the applicable
position.

Step 3. Refer to the Transmitter and Receiver sections

of this manual for typical or minimum readings. Better
yet, keep a log of all meter readings each time the
station is serviced. Use the last set of readings as a
reference and note any degradation in performance.

Step 4. Voltmeter Usage -- Use either the S V or 25 V
scales as applicable. Divide the 5 V full scale reading by
10 to obtain actual voltage. Divide the 25 V full scale
reading by 2 to obtain actual voltage.

2. INTERCOM

Step 1. Connect a test microphone to the microphone
receptacle on the meter & intercom chassis.

Step 2. Place the SPEAKER switch in the ON
position.

Step 3. Place the NORMAL-INTERCOM switch in
the INTERCOM position.

Step 4. The unit is now ready for intercom operation
between the station and the remote control point. Close
the PUSH-TO-TALK switch on the microphone and
speak into the microphone to send a message. Release
the button to listen; replies will be heard in the speaker.
The console operator at the remote point must also swit-
ch to an intercom mode to prevent keying the station
during replies.

Step 5. Return the SPEAKER switch to the OFF
position before leaving the station unattended.

3. ‘““ON-THE-AIR” TESTING

Step 1. Connect a test microphone to the microphone
receptacle on the meter & intercom chassis.

Step 2. Place the SPEAKER switch in the ON
position.

Step 3. Place the NORMAL-INTERCOM in the
NORMAL position.

Step 4. The unit is now ready for ‘‘on-the-air’’ testing.
If the microphone PUSH-TO-TALK switch is closed,

the station’s transmitter will be keyed. Speak into the
microphone to transmit a message. Release the PUSH-
TO-TALK switch to listen. Receiver audio will be heard
on the speaker.

Step 5. Return the SPEAKER switch to OFF before
leaving the station unattended.

4. MONITORING

To monitor audio quality, etc., place the
SPEAKER switch in the ON position. Both receiver
audio and line audio from the remote control point will
be heard in the speaker.

REFERENCE MOTOROLA REFERENCE MOTOROLA
SYMBOL PART NO. DESCRIPTION SYMBOL PART NO. DESCRIPTION
:tg:ggi: Meter Ili}t 4-8324 WASHER, lock: #15/32 (split)
Meter Kit 14-84717F01 | INSULATOR: .68 x . 40"
NOTE 29-5279 LUG, soldering: #7/8
This parts list covers two meter kits. Where differences 31-835961 TERMINAL STRIP, 18-termin-

appear the model number of the applicable kit is indicated
in the description column,

PL-5078-0

DIODE: (SEE NOTE)

36-82630H01
42-890499
42-10217A02

al

KNOB, control

CLAMP, cable: 3.18 x ., 62"
STRAP, cable harness

TKN6886A Cable Kit

.

PL-5207-A

P4

9-84151B03
14-84556B02

CONNECTOR:

includes:

CONTACT, receptacle: 12 used
HOUSING, connector

NON-REFERENCED ITEMS

14-859051
29-5247
29-824456
29-859118
37-82603D60
39-10184A24
42-10217A02
42-10217A10

9-84231E10

INSULATOR, lug: .315x ,945'";
6 used

LUG, soldering: #1/4 L; 4 used
LUG, ring tongue: 2 used

LUG, receptacle: ,295x ,750'";
6 used

SLEEVE, numbered; blank
CONTACT, female

STRAP, cable harness; 3,62"
lg.; 28 used

STRAP, cable harness; 7.78"
1g.; 4 used

JACK, test; white; 3 used

TLN5134A Meter Panel

CR1 48-82392B03 silicon
CONNECTOR, receptacle:
J1 9-830418 4-contact
TRANSISTOR: (SEE NOTE)
Ql 48-869571 PNP; type M9571
CONNECTOR, plug:
P100 29-82676C01 test probe; BLACK
P101 29-82676C02 test probe; RED
P102 28-84208B01 7-contact
RESISTOR, fixed: +10%; 1/2 W:
unless otherwise stated
R1 NOT USED
R2 17-82177B04 5, 5W
R3 6-124A33 220
R4, 10 6-84640C61 499k 1%
R5 6-125C17 47
R6 6-124A77 15k £5%; 1/4 W
R7 6-124A57 2.2k £5%; 1/4 W
R8 6-125C15 39
R9 6-125A39 390
R11 6-12756D88 100k +1%
R12 6-125A33 220 5%
SWITCH:
S1 40-83158C01 rotary; 2 section
sz, 3 40-83890A01 slide; dpdt
S4 40-811751 toggle; dpdt
S5 40-83890A01 slide; dpdt
NON-REFERENCED ITEMS
1-80775B55 CABLE ASSEMBLY includes:
3-129674 SCREW, machine: 4-40 x
3/16"; 2 used
3-132341 SCREW, machine: 4-36 x 1/4"

15-83947K01
30-83678K01

1-80775B60

1-80792B39
1-80795B12
1-80793B03
4-7555
27-83400K02
29-115147
31-490101
42-871184
2-7018
2-115190

2-121841
2-83896G01

3-134185
3-134212

3-136934
4-7(398

4-7699

2 used

COVER, connector: 2 used

CLAMP, cable; 2 used

CONNECTOR P102
VOLTMETER PROBES
includes:

CONNECTORS P100 & P101
SWITCH ASSEMBLY, wired
(TLN5901A)

SWITCH ASSEMBLY, wired
(TLN5994A) includes:

SWITCH S1
CHASSIS ASSEMBLY includes:

WASHER, flat: ,128 x .250 x

.033'"; 3 yged

CHASSIS, metering

LUG, soldering: #5

TERMINAL STRIP: 2-termin-

al; 2 used

CLIP, mo\mting; 3 used
NUT, hex: 3/8-32x 1/2 x 3/32
NUT, hex: 15/32-32 x 9/16 x
5/64”

NUT, hex: 6-32 x 5/16 x 7/64"
NUT, special: 13/16-27 x , 905
x ., 110"

SCREW, tapping: 6-32 x 1/4:
2 used ,

SCREW, tapping: 4-40 x 5/16;
3 used

SCREW, tapping: 6-32 x 3/8"
WASHER, lock: #3/8 (internal
tooth)

WASHER, lock: #13/16 (internal
tooth)

Ds1
DSs2

LS1

Ml
M2

65-83183G02
65-83183G04

50-83562A01

72-84864B10
72-84864B09

LIGHT, indicator:
includes lamp and GRN lens

includes lamp and RED lens

LOUDSPEAKER, permanent
magnet:

dynamic type; 4'; square;

4 ohms voice coil impedance

METER, electrical: 50 uA
movements:

scale: 0-25 volts/amps
scale: 0-50 microamperes

NON-REFERE

NCED ITEMS

13-84616G01
13-83207F01
42-83112A01

2-7009
3-119916
3-131964
4-7658
7-84620G01
7-84620G03
7-84620G05

13-83054C10
64-83152C03

GRILLE, speaker

CLOTH, speaker grille

CLIP, indicator light retaining;
2 used

NUT, hex: 10-32 x 3/8 x 1/8';
4 used

SCREW, machine: 10-32 x 7/16'
4 used

SCREW, tapping: 6-32 x 3/8;
12 used

WASHER, lock: #10 (split);
4 used

FRAME, top

FRAME, bottom

FRAME, end: 2 used
GRILLE, meter panel

PANEL, meter

PL-2233-A



